Revision Topic 5
Revision Practice 5
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200 3 ghoiitn

@ x=8 ® y=3
© x=—%orx=3 @) x=—%0rx=2
115 2
(@ x=-> ) x=2
() x=-383o0rx=258 (d) x:—% orx=-5
(@ r=-Sort=6 (b) x=0o0rx=-8
@ x=2 ) y=3
(a) x= —-]5]- orx=2 (b) No real roots
x=3andy=-2
@ 36 b =
(@) a=200and b =0.0024
(@ <12 (b) -8,-7 and -6
@ -5<x< %
(b) Greatest integer = 0; smallest integer = —4
(a) Massof A=28g;massof B=12¢g
() 36¢g
(a) () S$1.2x (ii) $(0.6x+4)
(b) Robert: $30; Sulaiman: $25; Tiong Heng: $19
(e¢) 10 hours
(a) Mango: $1.50; apple: $0.50
(b) 10
7 1
(a) a= E’b_ﬁ (b) 254 cm
(b) x= 19.3.8 (¢) 622 cm’
(a) ‘—f- h () (v +12) kmvh
10
£ —= (d v=3
(e) 5 km/h
(@ (x+3n-3)cm (b) x=10
(¢) 22cm
@ k=-9 (b) x=%
(d) (2.25,-6.125)
@ s ® 2
X x+3
(d) x=4.80 (e) 104s
o0 () $(391-3x+%°3]
(iii) 45 kg
(b) B=1{3.6,9)

{2,3,4.6, 8,9, 10}
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(a) €& = {all metals}

(b) ({iron, gold}

(e) ¢, {iron}, {gold}, {iron, gold}
(a) F is a subset of E.

b EUF=EENF=F

ol -13 -13
(@ (13 6] ®) [ J
-9 21 24 3
-15 -15
c
9 (-5 20]
-1 2 -10
-7 1
GlEsR1s 16 (b) [ ]
4 31 14 4633
0
(c) 7 (d) EF does not exist.
13
1 0
=4andy=9 (b)
(@ x y B J
x=5andy=3
30 4
(@ (23) (b) |-6 0 -8
IS¢ O 20

(c) not possible
A=t 1,0,-1,-2,...};; B={-3,3);
3 4.56,7, ...}
() ANB={3ANC=¢
(&) AUB={3,2,1,0,-1,-2, ...};
A U C = {x: xis an integer}
(@ HOT () 3
(e) ¢.{H}. {0}, (T}, {H, O}, (H, T}, {O, T}, {H, O, T}
(@ £=10,1,2,3,..:F={1,23,4,6,8, 12, 24}
(b) No

(¢) No
@ @ ¢ (i) (4,6, 8, 12, 24}
(iii) {2, 3}
(e) No
(a ¢
) {a.c. e [} (ii) {c e f}
-3 0@ ~10../0=0
(@ A+B=| 0 -4 0;AB=| 0 3 0
0 d'6 008
el oot sal
(b) e
2 -10 12
(c) (i) 6 -9 -21
16 32 -36
(a) [44] (©) @) (5220)
46

® @ [8') © @ [125]
95 114



